1. 7(x+a)*+ (4x+0b)(x-5) & ZtHs] 5FH x o] AlF7F 10]t} a, b
7hAAd o, Ad2?

@22 o©-0 04 @20 O3

~&B )

7(x% + 2ax + a®) + (4x® — 20x + bx — 5b)

= 11x? + (14a — 20 + b)x + 7a* - 5b

x AFE14a-20+b =1

1l4da+b =21

na=1,b="1( a, be AAF)
web A G2 7a? - 5b =7 - 35 = —28 0]t




(2x +4)(x +3) = (x = 5)(x + 1) & 7FH3] 5tA-S o, x o] A4t

D 11 @ 21 3®)31 @ 41 ® 51

(A1) =(2x% + 10x + 12) — (x% — 4x - 5)
=2x> +10x+12- x> +4x+5
= x>+ 14x+17
wrEbA x o] AlG Aol 2 14+ 17 = 31 o] Hrh




3. 4(x+a)?+ (5x+b)(x-3) = tHo] 5t x O] ALTt -1 0|t} a, b
7} 2 o, A4 otei et

> E

> ™et: -14

~&B \

EA) 9] A& 715] 5HH 9x2 + (8a + b — 15)x + 4a® - 3b
8a+b-15=-1
8a+b=14 E NEZot= AAFa=1, b=6

wabA] A48 40% — 3b = 4 - 18 = —14 ©]t},




4. Ax+1)(x+A)=4(x-2)2-B < o], A5 B 9 ghe?

@3 @3 @33 @3 64w

B

FH-s 7 lstd

4(x* +Ax+x+A)=4(x>-4x+4) - B

= 4x? +4(A+ 1)x+4A =4x*> - 16x + 16 - B
4A+1)=-16

A+1=-4

LA=-5

4A=16-B©°|22 —20=16-B,

o2kA B 9] g2 36 0.
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(1004 — 1)(1004 +1) +1 1004 — 1 + 1

1004 1004
= 1004




4 BAL ALgate], 201 x199 B ALK o) 71 Welek BALL

® (a+b)? =a?+2ab + b?
@ (a-b)?=a*-2ab + b?
@) (a+b)a-b) = a®-p?
@ (x+a)(x+b)=x>+ (a+b)+ab

® (ax+b)(cx+d) = acx® + (ad + bc)x + bd

~&B

201 x 199 = (200 + 1)(200 — 1)
— 2002 — 12
= 39999

. (a+b)(a-b) =a®-b*E 0|83t}




@ (x4 a)(x+b) = x>+ (a+ b)x + ab

@ (x+a)? =x*+2ax +d?

® (x-a)? = x*-2ax +a?

@ +a)(x-a)= 2 -a?

® (ax+b)(cx +d) = acx® + (ad + bc)x + bd

A FA1E 0]-85t0] 14.98% 15.02 = A4S 1L
o|-&5t7] Mt HA FAS 1=2H?

B

14.98 x 15.02 = (15 - 0.02)(15 + 0.02)
= 152 —0.022
= 225 — 0.0004
= 224.9996

2tA (x4 a)(x —a) = x2 — a® & AFRRITH




10.3%x 9.7 = (10 4 0.3)(10 — 0.3)
=102 = (0.3)2 = 100 — 0.09 = 99.91
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10. 729] Zoj7} 7x, A=) Bol7h dx A ZAFZGel A 7hzo] Pol
3 0g Zol 3 A2 Zolt 1 8H Hgirh. o o, 2A12E el Ho|
S

® 20x2-5x-3 @ 20x>-5x+3 ® 28x%2+5x-3

@28x2—5x—3 ® 28x%2 +5x+3

(AAZF ) Wel) = (1) x (A1)
= (Tx+3)(4x-1)
=28x2+5x-3
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O x®*+2x+15 (@)x2+2x—15 @ x2-2x-15
@ x> +3x-15 ® x*-3x-15

(A2 2] Hol) = (7h2) x (A=)
=(x-3)(x+5)
=x24+2x-15




12.

Hol7k 2x Q1 ARG oA 7tz et Az o] Aol & 7}

iSRS |

g g o, Az A7) Ax2EE o] Hole?

@ 4x2+7x+7 @ 4x2 +7x+12
@4x2+14x+ 12 @ 2x% + 7x+ 12

® 2x? + 14x + 12

7}

33

4

(FAER 9] Yol) = (712) x (A=)
= (2x+3)(2x+ 4)
= 4x? + 14x + 12




13. ohe Aol ghe BATAL BEste] PakAn Gk () o

(4+2)(4742%) (4" +2%) (43 42%) (4194210) (432 4-2%2) 4203
—9( )

@ 126 @127 @ 128 @ 129 ® 130

B ~
(4+2) (4242%) (4" +21) (43 +2°) (40 +2'0) (472 +2%) I

1 _
5x(4—2)%-§'—§}‘:’r.
(5% (4-2) =1 0|22 He| g Wapx] et

%(4_2)(4_1_2)(42+22)(44+24)(48+28)(416+216)(432+232)

X (4% -2%)(47+2%)(4% +2%) (4% +28) (410 +210)(4%2 +2%2)

(44_24)(44+24)(48+28)(416+216) (432+232)

(48_28)(48+28)(416+216)(432+232)

wl»—l M|>—~ l\’)lr—A mln—l wl»—l

(416 216)(416 uE 216)(432 uE 232)

1
(432 232)(432 + 232) — 5(464 _ 264)

| —

— > (2128 _ 264)
— 2127 _ 263

wheba] Fo]7] Al (2127 - 263) 4 263 = 2( ) o]B R
20 ) = 2127 s )=127




14.

® 912 > (a+b)? = a® + 2ab + b?

@ 597% - (a-b)? = a® - 2ab + b*

® 103% - (a +b)? = a® + 2ab + b*
@)s84x75 > (a+b)(a-b) = a® - b?
® 50.9%x49.1 - (a+ b)(a—b) =a® - b*

ol-&

@ 84 x 75 = (80 +4)(80 - 5)
(x+a)(x+b) =x*+ (a+b)x+ab




15. tFL oA 364 & x 2 5to] JAl ZA-S o] 85}o] AALSHH?

364 x 366 — 728 — 363 X 365

@1 @ 2 ® 3 @ 4 ® 5

x(x+2)-2x—(x-1)(x+1)
= 5@ 4k e = Dy = 32 4= 1l
=1




® 13x7

51 %52 = (50 + 1)(50 + 2)

=502+ (142) x50+ 1x2




